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(1) (F4¥ol) = (B E)x (&°l)
(24 342+ 3) x4 =40(cm?)
(2) (B4¥ol) = (BH9 7I=) x (BH A=)
=3x2=6(cm?)

(BHol) = (ZWol) x2+ (FHel)
=6x 2+ 40 = 52( cm?)
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(ASHA 9] 2ylo]) = (g "] Hol) x6
(B4 o])= (15 x 15) x 6 = 1350( cm?)
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(fdlel) = (ZHlel) - (Z4el) x2
= 2100 — (20 x 30) x 2
= 2100 — 1200 = 900( cm?)

(F4¥ol) = (B =8) x (&°l)
(&°l) = (d4lo]) + (B9 =4)

00 + (20 + 30 + 20 + 30)
00 + 100 = 9( cm)
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ThebA] Kol Zof gl W2 BF 42 - 12 = 30(7) 4Uith
Zylo] 1 30x 4 = 120(cm?)
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(7F] Bo)=4x4x4 =16 x 4 = 64(cm?)

(o] Fa])+ (7he] Ha])= 512+ 64 =8
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=6x6x6=216(cm?)

= 216 + 24 = 9(HH)
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(35 % 20) X 2 + (20 + 35 + 20 + 35) x || = 8000
1400 4+ 110 x| ] = 8000

110x[_|= 6600

[ ]=60(cm)
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